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BEDMAS

Brackets
Exponents
Division
Multiplication
Addition
Subtraction

} in order, from left to right

} in order, from left to right
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Example 1: Adding and Subtracting with Powers

Evaluate: BEDMAS
a) 33+ 23 b) 3-23 c) (3+2)
=97+ 3 =3-% = (5)
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Example 2: Multiplying and Dividing with Powers
Evaluate:

a) [2x(-3) - 6]
= E) xEa) -ET
= Fs4-¢]”

=60

= 3600
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b) (182 + 5% (- 5)°

=34+ 1)+ ES)

= (2asy+(5Y

= [05635=E1as)
-—R45
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Try this:

2 x (-5)2 - (3)*- 10°
_ax(@s)-a43— |
= 5045~
= —[93—|
= =94
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3. Bvaluate,

a) 3+ 1 b) 3°— 1
g (3417 (3 — 1P
g 2° +4 f 22 —4
g (2 + 4)* hy (2 — 4)°
) 2-4 jlat— 42

4, Evaluate. Check using a calculator.

a) 2P x5 by 2 x 52
g (2% 5) & (2 % 5)°
g (=10 =5 f) (—10) + 5°

9 [(—10) = 5)* W [(—10) = 5]°

5. Evaluate,
a) 2+ (20 b} (2
g 22— (-39 d) (2
e) 22+ (—1) fl (2
g 2* x (=2)° h} (2
Apply

_3J.1
+ 3
== Fy
% 1)?

6. a) Evaluate. Record your work.

i) 42 + 42 iiy 57

+ 58

b} Evaluate. Record your work.

iy 6 = 6 i) &

7. Identify, then correct, any errors in the
student work below. Explain how you think

the errors eccurred,

— 65

LR LD AP

e R
1% % 16 =36

]

172

(1] UMNIT 2: Powers and Exponent Laws

9.

10.

1.

State which operation vou will do first,

then evaluate.

a) (7)(4) — (5)° b) 6(2 — 5)°

O (=3P 4+ (4)(7)  d) (—6) +4° X (—2)
el 107+ [10+ (=2} f) [18 + (—6)P X 2

Sometimes it is helpful to use an acronym
as a memory trick. Create an acronym to
help you remember the order of operations,
Share it with your classmates.

Evaluate.

a) (3 +4)P % (4—06)

by (8 + 22 + 1)% — 3%

o 4 = [B(e" = 21}]

d) 92+ [9+ (—-3))

E:I ':2_‘ w0 13]2

0 (117 + 53" 4 (42 — 2%)

Explain why the brackets are not necessary

- to evaluate this expression.

12.

13.

(=47 10) — (6 = 2)
Evaluate the expression, showing each step.

Winona is tiling her 3-m by 3-m kitchen
floor. She bought stone tiles at $70/m?, Tt
costs $60/m? to install the tiles. Winona has
a coupon for a 25% discount off the
installation cost. This expression represents
the cost, in dollars, to tile the floor:
70 > 3 4 60 X 3 X 0.75

How much does it cost to tile the foor?

Evaluate this expression:

P+ (3x4} -6

Change the position of the brackets.
Evaluate the new expression, How many
different answers can you get by changing
only the position of the brackets?

A acranym s
a word formed

fram the first

|etters of other

wards.
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